TUBE-O-MAT® VI+

JUMBO

7-120 kg

PN
8 EGEBJERG

‘Qr‘,INTERNATIUNAL

EGEBJERG INTERNATIONAL A/S « DENMARK + TEL. +45 59 36 05 05 « WWW.EGEBJERG.COM



TUBE-O-MAT VI+ Jumbo

2 pcs. Art no. 70289
OR

2 pcs. Art no. 70284 |

1 pcs. Art no. 7066

1 pcs. Art no. 73324
2 pcs. Art no. 73322

1 pcs. Art no. 73720

2 pcs. Art no. 70723

1 pcs. Art no. 71058

OR

1 pcs. Art no. 71059

1 set. Art no. 76076
/ POLY BAG 2 set. Art no. 76091
2 pcs. Art no. 73700
2 pcs. Art no. 73701 ——— == 6 pcs. M6X12 Art no. 67162 @@
1 pcs. Art no. 737214—;:;:—/;:;@ Q pcs. M6 Nut Art no. 68522 & y.
1 pcs. Art no. 73722 ——&
2 pcs. Art no. 73711 /— GOLY BAG 1 set. Art no. 76092 I
2 pcs. Art no. 72362 * 2 pcs. M6X12 Art no. 67162 O®
3 pcs. Art no. 61015 2 pcs. M6 Art no. 68522 @
3 pes. Art no. 61140 2 pcs. M6 Art no. 68520 @
. . —gm =
2 pcs. Art no. 73712 =1 e (pcs. M6x35 Art no, 67220 Qe
1 pcs. Art no. 61310— . 98
1 set. Art no. 76461 / POLY BAG 1 set. Art no. 76491 )
g 10 pcs. M8x22 Art no. 67332 i
2 pcs. Art no.
4 pcs. M8x16 Art no. 67327 (pm
5 P —— 22 pcs. M8 Art no. 68545 @
Pesi o % 8 pcs. M8x20 Art no. 67331 (e
2 pcs. Art no. 72316 ‘..- 4 pcs. U-Clamp  Art no. 69681 ﬁ
3 pcs. Art no. 93245 ———&» \8 pcs. M6 Art no. 68520 @ /
2 pcs. Art no. 72235 ——
2 set. Art no. 76261 /I;OLY BAG 2 set. Art no. 76280 \
1 pcs. Art no. 70750
1 pcs. Art no. 72175 2 pcs. M8x20 Art no. 67330 k
2 ps. Art no. 70752 4 pcs. M8x20 Art no. 67331 {m®
1 pcs. Art no. 72178 __ 3 pcs. M5x25 Art no. 67104 Q=
2 pcs. Art no. 72177 ——==——_ ¥% 0" 7 pes. M8 Art no. 68545 @
1 pcs. Art no. 72179 ——ex,
1 scs Art no. 72096 __n% 1 pcs. 3,2x20 Art no. 68897 &=
1 pcs. Art no. 72391 A \1 pcs. 8mm Art no. 68726 Q/
1 pcs. Art no. 72077%
1 pcs. Art no. 72367 ——ﬁ-,
1 pcs. Art no. 72371

Revision 00 Date: 26-10-2010



Revision 00 Date: 26-10-2010



00 Date: 26-10-2010

Revision



72050HG

68545

—

Revision 00 Date: 26-10-2010



72391

72332

Revision 00

Date: 26-10-2010



Date: 26-10-2010

Revision 00



17 Nm
12,5 ft-lb




Revision 00 Date: 26-10-2010






61015

61140

73324

68520

69681

11

Revision 00

Date: 26-10-2010



12
Revision 00 Date: 26-10-2010



A 4
A

4 12-15 mm

13

Date: 26-10-2010

Revision 00



-
\_ =

14
Revision 00 Date: 26-10-2010



1400

770
[ 730
; 690

820

() [ 255
71058 3 215 |
] | £ 175 | TH THHT
TR SEETRENERARANARNY %
1043
1440

810
[ 770

' ﬁ] - 730
@12 x 30 1]
|| 35

860

1 295
255 b
X 215 ] | | | 1l IF

= =1 =

i TR R NN S N R AU RO 3 [
1043

15
Revision 00 Date: 26-10-2010



1 1400

W\
8
0 0
0 0
0 0
0 0
0 0
0 0
0 1]
g JTHRT\ g -
0 0 L
0 0 i
@9 x 25 g 340
1o 3 0
0 a: 0
ﬂ ) U
wn| |0 0
QLH | ;
W 8 THH] [HHT
. 50] M . i
TANARLLYRRY S ¥ AR RO R AR ORANSARNNNY
1040 e
—— 1440
I\ .
8
0 0
0 0
0 0
0 0
1] 0
1] 0
0 0
: [T -
0 ol 3
0 0 —
@9 x25 |0 0
0 0
0 0
0 0 40
= o 0 0
71059 < 1 L
< Lo [H{HI IHHT ] o
S o 85 T i = § 1 g_
SRR T RN COTO TR S S, af
1040

16
Revision 00 Date: 26-10-2010



